

То	Tornillo South Shared - Base Bid I		Allied Paving Company El Paso, TX		Horizone Construction I, LTD El Paso, TX		Del Mar Contracting, Inc. El Paso, TX		Black Stallion Contractors, Inc. El Paso, TX		Hawk Construction El Paso, TX	
Item	Description of Item	Approx. Qty.	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1	PREPARING ROW	67	\$133.00	\$8,911.00	\$317.91	\$21,299.97	\$2,000.00	\$134,000.00	\$977.50	\$65,492.50	\$180.00	\$12,060.00
2	REMOVING CONC (DRIVEWAYS)	30	\$19.25	\$577.50	\$38.57	\$1,157.10	\$30.00	\$900.00	\$23.00	\$690.00	\$104.00	\$3,120.00
3	REMOVING CONC (CURB)	35	\$6.83	\$239.05	\$4.95	\$173.25	\$10.00	\$350.00	\$4.60	\$161.00	\$44.50	\$1,557.50
4	REMOVING CONC (SAWCUT)	1,178	\$1.31	\$1,543.18	\$9.42	\$11,096.76	\$3.00	\$3,534.00	\$3.45	\$4,064.10	\$7.50	\$8,835.00
5	EXCAVATION (ROADWAY)	762	\$12.08	\$9,204.96	\$33.60	\$25,603.20	\$22.00	\$16,764.00	\$19.55	\$14,897.10	\$40.00	\$30,480.00
6	FL BS (CMP IN PLC)(TY A GR1-	170	\$24.53	\$4,170.10	\$51.47	\$8,749.90	\$85.00	\$14,450.00	\$69.00	\$11,730.00	\$100.60	\$17,102.00
7	REWORK BS MTL (TY C)(8")(ORD COMP)	850	\$17.34	\$14,739.00	\$20.55	\$17,467.50	\$6.00	\$5,100.00	\$35.65	\$30,302.50	\$12.40	\$10,540.00
8	PRIME COAT (SS-1H)	403	\$4.45	\$1,793.35	\$10.80	\$4,352.40	\$6.00	\$2,418.00	\$10.35	\$4,171.05	\$12.30	\$4,956.90
9	D-GR HMA (SQ) TY-C PG70-22	4	\$747.94	\$2,991.76	\$362.56	\$1,450.24	\$140.00	\$560.00	\$230.00	\$920.00	\$760.00	\$3,040.00
10	D-GR HMA (SQ) TY-D PG70-22	87	\$130.34	\$11,339.58	\$116.54	\$10,138.98	\$140.00	\$12,180.00	\$172.50	\$15,007.50	\$275.00	\$23,925.00
11	CUT AND RESTORE PAV (FLEX BASE)	133	\$11.97	\$1,592.01	\$16.45	\$2,187.85	\$40.00	\$5,320.00	\$57.50	\$7,647.50	\$50.50	\$6,716.50



То	rnillo South Shared - Ba	Allied Paving Company El Paso, TX		Horizone Construction I, LTD El Paso, TX		Del Mar Contracting, Inc. El Paso, TX		Black Stallion Contractors, Inc. El Paso, TX		Hawk Construction El Paso, TX		
Item	Description of Item	Approx. Qty.	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
12	DRILL SHAFT (24 IN)	30	\$309.75	\$9,292.50	\$280.98	\$8,429.40	\$200.00	\$6,000.00	\$339.25	\$10,177.50	\$448.00	\$13,440.00
13	ADJUST MANHOLE (WATER VALVE BOX)	1	\$682.50	\$682.50	\$4,065.17	\$4,065.17	\$350.00	\$350.00	\$690.00	\$690.00	\$918.00	\$918.00
14	REMOV STR (ROCKWALL)	1	\$315.00	\$315.00	\$446.97	\$446.97	\$350.00	\$350.00	\$632.50	\$632.50	\$2,200.00	\$2,200.00
15	REMOV STR (BOLLARD)	2	\$157.50	\$315.00	\$218.89	\$437.78	\$100.00	\$200.00	\$97.75	\$195.50	\$1,000.00	\$2,000.00
16	REMOV STR (SMALL FENCE)	149	\$5.25	\$782.25	\$41.65	\$6,205.85	\$3.50	\$521.50	\$11.50	\$1,713.50	\$12.65	\$1,884.85
17	MOBILIZATION	1	\$18,900.00	\$18,900.00	\$7,000.00	\$7,000.00	\$36,000.00	\$36,000.00	\$39,502.59	\$39,502.59	\$10,600.00	\$10,600.00
18	BARRICADES, SIGNS, AND TRAFFIC	9	\$7,350.00	\$66,150.00	\$4,818.98	\$43,370.82	\$2,500.00	\$22,500.00	\$10,005.00	\$90,045.00	\$11,750.00	\$105,750.00
19	TEMP SEDMT CONT FENCE (INSTALL)	722	\$3.15	\$2,274.30	\$3.59	\$2,591.98	\$3.00	\$2,166.00	\$3.45	\$2,490.90	\$4.00	\$2,888.00
20	TEMP SEDMT CONT FENCE (REMOVE)	722	\$0.79	\$570.38	\$2.42	\$1,747.24	\$1.00	\$722.00	\$1.73	\$1,249.06	\$2.00	\$1,444.00
21	CONC CURB & GUTTER (TY II)	521	\$12.91	\$6,726.11	\$20.20	\$10,524.20	\$19.00	\$9,899.00	\$20.70	\$10,784.70	\$24.00	\$12,504.00
22	CONC CURB (TY IIA)	281	\$9.89	\$2,779.09	\$20.18	\$5,670.58	\$16.00	\$4,496.00	\$14.95	\$4,200.95	\$20.00	\$5,620.00



То	rnillo South Shared - Bas	Allied Paving Company El Paso, TX		Horizone Construction I, LTD El Paso, TX		Del Mar Contracting, Inc. El Paso, TX		Black Stallion Contractors, Inc. El Paso, TX		Hawk Construction El Paso, TX		
Item	Description of Item	Approx. Qty.	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
23	CONCRETE SPECIAL CURB	2180	\$68.82	\$150,027.60	\$56.60	\$123,388.00	\$55.00	\$119,900.00	\$80.50	\$175,490.00	\$91.60	\$199,688.00
24	DRIVEWAYS (CONC)	163	\$47.71	\$7,776.73	\$138.10	\$22,510.30	\$75.00	\$12,225.00	\$74.75	\$12,184.25	\$105.00	\$17,115.00
25	CONC SIDEWALKS (6")	3406	\$42.71	\$145,470.26	\$64.93	\$221,151.58	\$65.00	\$221,390.00	\$60.95	\$207,595.70	\$81.65	\$278,099.90
26	CURB RAMPS (TY 2)	5	\$1,042.00	\$5,210.00	\$2,385.30	\$11,926.50	\$750.00	\$3,750.00	\$1,207.50	\$6,037.50	\$1,900.00	\$9,500.00
27	CURB RAMPS (TY 7)	17	\$987.00	\$16,779.00	\$2,278.61	\$38,736.37	\$750.00	\$12,750.00	\$1,265.00	\$21,505.00	\$1,600.00	\$27,200.00
28	CURB RAMPS (TY 7)(MOD)	2	\$1,586.95	\$3,173.90	\$3,533.23	\$7,066.46	\$900.00	\$1,800.00	\$1,380.00	\$2,760.00	\$2,200.00	\$4,400.00
29	CHAIN LINK FENCE (INSTALL)(6')	101	\$40.63	\$4,103.63	\$58.27	\$5,885.27	\$45.00	\$4,545.00	\$46.00	\$4,646.00	\$91.00	\$9,191.00
30	CHAIN LINK FENCE (REMOVE)	119	\$5.25	\$624.75	\$22.08	\$2,627.52	\$4.00	\$476.00	\$11.50	\$1,368.50	\$10.00	\$1,190.00
31	CHAIN LINK FENCE GATE (INSTALL)(6X18)	1	\$1,620.00	\$1,620.00	\$2,395.46	\$2,395.46	\$1,500.00	\$1,500.00	\$4,025.00	\$4,025.00	\$4,600.00	\$4,600.00
32	IN SM RD SN SÚP&AM TY10BWG(1)SA(P)	16	\$733.43	\$11,734.88	\$712.16	\$11,394.56	\$750.00	\$12,000.00	\$805.00	\$12,880.00	\$1,050.00	\$16,800.00
33	IN SM RD SN SUP&AM TY10BWG(1)SA(T)	19	\$749.70	\$14,244.30	\$679.79	\$12,916.01	\$950.00	\$18,050.00	\$828.00	\$15,732.00	\$1,080.00	\$20,520.00



То	Tornillo South Shared - Base Bid I		Allied Paving Company El Paso, TX		Horizone Construction I, LTD El Paso, TX		Del Mar Contracting, Inc. El Paso, TX		Black Stallion Contractors, Inc. El Paso, TX		Hawk Construction El Paso, TX	
Item	Description of Item	Approx. Qty.	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
34	REMOVE SM RD SN SUP&AM	14	\$131.25	\$1,837.50	\$244.70	\$3,425.80	\$100.00	\$1,400.00	\$143.75	\$2,012.50	\$200.00	\$2,800.00
35	REFL PAV MRK TY I (W)24"(SLD)(100MIL)	882	\$8.93	\$7,876.26	\$11.01	\$9,710.82	\$8.00	\$7,056.00	\$9.20	\$8,114.40	\$13.00	\$11,466.00
1 Kh	REF PAV MRK TY I(W)36"(YLD	17	\$40.95	\$696.15	\$142.43	\$2,421.31	\$55.00	\$935.00	\$69.00	\$1,173.00	\$200.00	\$3,400.00
37	PAVEMENT SEALER 24"	882	\$0.28	\$246.96	\$1.89	\$1,666.98	\$4.00	\$3,528.00	\$4.60	\$4,057.20	\$2.50	\$2,205.00
38	ELIM EXT PAV MRK & MRKS (24")	517	\$1.58	\$816.86	\$9.28	\$4,797.76	\$4.00	\$2,068.00	\$4.03	\$2,083.51	\$11.00	\$5,687.00
39	PAV SURF PREP FOR MRK (24")	882	\$0.17	\$149.94	\$1.98	\$1,746.36	\$3.00	\$2,646.00	\$1.15	\$1,014.30	\$2.30	\$2,028.60
40	LAW ENFORCEMENT PERSONNEL	3,200	\$1.00	\$3,200.00	\$8.22	\$26,304.00	\$1.00	\$3,200.00	\$1.00	\$3,200.00	\$1.50	\$4,800.00
41	FIXED BOLLARDS	4	\$1,517.25	\$6,069.00	\$1,296.79	\$5,187.16	\$1,000.00	\$4,000.00	\$977.50	\$3,910.00	\$760.00	\$3,040.00
42	PEDESTRIAN ILLUMINATION	5	\$4,062.45	\$20,312.25	\$6,300.58	\$31,502.90	\$4,500.00	\$22,500.00	\$4,600.00	\$23,000.00	\$5,900.00	\$29,500.00
	Total Base Bid I			\$567,858.59		\$740,928.26		\$734,499.50		\$829,554.31		\$934,812.25



Toi	Tornillo North Shared - Base Bid II		Allied Paving Company El Paso, TX		Horizone Construction I, LTD El Paso, TX		Del Mar Contracting, Inc. El Paso, TX		Black Stallion Contractors, Inc. El Paso, TX		Hawk Construction El Paso, TX	
Item	Description of Item	Approx. Qty.	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1	PREPARING ROW	84	\$118.12	\$9,922.08	\$314.90	\$26,451.60	\$1,900.00	\$159,600.00	\$997.50	\$83,790.00	\$168.00	\$14,112.00
1 2	REMOVING CONC (SIDEWALKS)	15	\$16.89	\$253.35	\$19.96	\$299.40	\$30.00	\$450.00	\$23.00	\$345.00	\$97.00	\$1,455.00
3	REMOVING CONC (DRIVEWAYS)	51	\$17.58	\$896.58	\$23.26	\$1,186.26	\$30.00	\$1,530.00	\$23.00	\$1,173.00	\$97.00	\$4,947.00
4	REMOVING CONC (CURB)	568	\$6.02	\$3,419.36	\$2.53	\$1,437.04	\$7.00	\$3,976.00	\$4.60	\$2,612.80	\$41.00	\$23,288.00
١ ٦	REMOVING CONC (SAWCUT)	617	\$1.58	\$974.86	\$10.27	\$6,336.59	\$3.00	\$1,851.00	\$3.45	\$2,128.65	\$7.20	\$4,442.40
l h	EXCAVATION (ROADWAY)	748	\$14.18	\$10,606.64	\$32.60	\$24,384.80	\$22.00	\$16,456.00	\$19.55	\$14,623.40	\$37.80	\$28,274.40
7	ADJUST MANHOLE	1	\$714.00	\$714.00	\$1,995.23	\$1,995.23	\$350.00	\$350.00	\$1,035.00	\$1,035.00	\$852.00	\$852.00
I X	ADJUST MANHOLE (WATER VALVE BOX)	2	\$367.50	\$735.00	\$1,521.45	\$3,042.90	\$350.00	\$700.00	\$977.50	\$1,955.00	\$852.00	\$1,704.00
1 4	ADJUST MANHOLE (WATER METER)	6	\$262.50	\$1,575.00	\$410.56	\$2,463.36	\$350.00	\$2,100.00	\$977.50	\$5,865.00	\$852.00	\$5,112.00
1 1()	ADJUST MANHOLE (ELECTRIC BOX)	2	\$2,963.00	\$5,926.00	\$2,751.55	\$5,503.10	\$350.00	\$700.00	\$3,335.00	\$6,670.00	\$4,100.00	\$8,200.00
11	MOBILIZATION	1	\$14,700.00	\$14,700.00	\$5,347.57	\$5,347.57	\$28,000.00	\$28,000.00	\$31,694.33	\$31,694.33	\$7,250.00	\$7,250.00



Тоі	Tornillo North Shared - Base Bid II		Allied Paving Company El Paso, TX		Horizone Construction I, LTD El Paso, TX		Del Mar Contracting, Inc. El Paso, TX		Black Stallion Contractors, Inc. El Paso, TX		Hawk Construction El Paso, TX	
Item	Description of Item	Approx. Qty.	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1 17	BARRICADES, SIGNS, AND TRAFFIC	5	\$7,350.00	\$36,750.00	\$8,086.31	\$40,431.55	\$2,000.00	\$10,000.00	\$10,005.00	\$50,025.00	\$13,000.00	\$65,000.00
13	TEMP SEDMT CONT FENCE (INSTALL)	2,991	\$3.15	\$9,421.65	\$3.62	\$10,827.42	\$3.00	\$8,973.00	\$3.45	\$10,318.95	\$3.60	\$10,767.60
1 1/1	TEMP SEDMT CONT FENCE (REMOVE)	2,991	\$0.79	\$2,362.89	\$1.72	\$5,144.52	\$1.00	\$2,991.00	\$1.73	\$5,174.43	\$1.70	\$5,084.70
1 1 5	CONC CURB & GUTTER (TY II)	605	\$12.91	\$7,810.55	\$20.20	\$12,221.00	\$19.00	\$11,495.00	\$20.70	\$12,523.50	\$22.60	\$13,673.00
16	CONC SIDEWALKS (6")	4477	\$42.17	\$188,795.09	\$64.93	\$290,691.61	\$60.00	\$268,620.00	\$60.95	\$272,873.15	\$75.00	\$335,775.00
17	CURB RAMPS (TY 2)	2	\$1,175.39	\$2,350.78	\$2,350.61	\$4,701.22	\$750.00	\$1,500.00	\$1,207.50	\$2,415.00	\$1,800.00	\$3,600.00
18	CURB RAMPS (TY 7)	18	\$987.00	\$17,766.00	\$2,241.75	\$40,351.50	\$750.00	\$13,500.00	\$1,265.00	\$22,770.00	\$1,500.00	\$27,000.00
1 14	REMOVE AND INSTALL EXISTING	3	\$787.50	\$2,362.50	\$2,427.74	\$7,283.22	\$1,500.00	\$4,500.00	\$460.00	\$1,380.00	\$795.00	\$2,385.00
1 7/1	IN SM RD SN SUP&AM TY10BWG(1)SA(P)	11	\$733.00	\$8,063.00	\$904.45	\$9,948.95	\$750.00	\$8,250.00	\$805.00	\$8,855.00	\$1,000.00	\$11,000.00
1 71	IN SM RD SN SUP&AM TY10BWG(1)SA(T)	11	\$749.70	\$8,246.70	\$924.52	\$10,169.72	\$950.00	\$10,450.00	\$828.00	\$9,108.00	\$1,050.00	\$11,550.00
7.7	REMOVE SM RD SN SUP&AM	10	\$131.25	\$1,312.50	\$161.86	\$1,618.60	\$100.00	\$1,000.00	\$143.75	\$1,437.50	\$181.00	\$1,810.00
1 7 4	REFL PAV MRK TY I (W)24"(SLD)(100MIL)	702	\$9.45	\$6,633.90	\$13.25	\$9,301.50	\$8.00	\$5,616.00	\$9.20	\$6,458.40	\$15.00	\$10,530.00



То	Tornillo North Shared - Base Bid II		Allied Paving Company El Paso, TX		Horizone Construction I, LTD El Paso, TX		Del Mar Contracting, Inc. El Paso, TX		Black Stallion Contractors, Inc. El Paso, TX		Hawk Construction El Paso, TX	
Item	Description of Item	Approx. Qty.	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
24	PAVEMENT SEALER 24"	702	\$0.33	\$231.66	\$2.38	\$1,670.76	\$4.00	\$2,808.00	\$4.60	\$3,229.20	\$3.00	\$2,106.00
25	ELIM EXT PAV MRK & MRKS (12")	185	\$8.40	\$1,554.00	\$12.96	\$2,397.60	\$4.00	\$740.00	\$4.03	\$745.55	\$15.00	\$2,775.00
26	PAV SURF PREP FOR MRK (24")	702	\$0.20	\$140.40	\$2.50	\$1,755.00	\$4.00	\$2,808.00	\$1.15	\$807.30	\$3.00	\$2,106.00
27	LAW ENFORCEMENT PERSONNEL	1,600	\$1.00	\$1,600.00	\$8.22	\$13,152.00	\$1.00	\$1,600.00	\$1.00	\$1,600.00	\$2.00	\$3,200.00
	Total Base Bid II			\$345,124.49		\$540,114.02		\$570,564.00		\$561,613.16		\$607,999.10
	Total Base Bid I &II Com		\$912,983.08		\$1,281,042.28		\$1,305,063.50		\$1,391,167.47		\$1,542,811.35	

Approved by (Print)	
F*********************************	
Date	CP 2/5/22
	Approved by (Print) Date